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SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2

= 33,000
= 26,400

SHAGH JIALE XA 53,280 53,280 0
2 44,400
= 8,880

308 XAHXIEHSOIA 53,280 53,280 0
2 44,400
= 8,880

01 AIXSHMEMNEX= 53,280 53,280 0]
OsgEAIGH dIALE XA 53,280
2 44,400
=} 8,880

SHOOoIAHUE NN 2AXS 871,630 871,630 0
= 583,700
= 287,930

307 giztol A 871,630 871,630 0
= 583,700
= 287,930

02 QI2tAAMAIE E =X 871,630 871,630 0
O=g00lAEHUs Y 29 X& 871,630
= 583,700
= 287,930

SEZ2SHSA SLEAISE XA 57,500 57,500 0
= 50,000
o= 7,500

308 XX SHAHSOIH 57,500 57,500 0
= 50,000
o= 7,500

01 AIXSHMENEXZ 57,500 57,500 0
OsZ=Z2Z=HaA LAY XA 57,500
= 50,000
& 7,500

sXolg2e X 296,629 296,629 0
J| 296,629

308 XHXIEHSOIA 296,629 296,629 0
J| 296,629

01 AIXSHHENMNEX= 296,629 296,629 0
OsXolgaelXd 296,629
J| 296,629

TAIO SER XX 650,000 650,000 0
= 500,000
= 150,000

308 XAHXIGHH SO0l & 650,000 650,000 0
= 500,000
& 150,000
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EEEE!
HE: Qs HESE
Sl MolsolYs (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 AIKSHMEAMNEX= 650,000 650,000 0
OFEAN2 sERXXNE 650,000
= 500,000
o= 150,000
SENEELSESHE ALY 335,095 318,244 16,851
= 252,891
& 82,204
308 MXISHHMSOIA 335,095 318,244 16,851
= 252,891
= 82,204
01 AXHHIMNEXS 335,095 318,244 16,851
OsZHEs2d0=4d MY 335,095
= 252,891
= 82,204
SENME0E 2 U=l 5,000 5,000 0
201 et 5,000 5,000 0
03 HAI2 G HI 5,000 5,000 0
O=s=M&E0t2 2l 3l 5,000
HsQ sIHFE2|H XA 30,000 30,000 0
403 XX SHHS K20 & 30,000 30,000 0
01 AIXISHHMA=2E X 30,000 30,000 0
OHM=s2 )=l XS 30,000
SHE HESIF HAEY AKX 30,000 30,000 0
307 gizto| A 30,000 30,000 0
02 QIZ2IA AAIE E X 30,000 30,000 0
OsZ& EFJF HAEY SHAKXRA 30,000
Hseolo & =4 156,000 156,000 0
= 120,000
o= 36,000
403 XX SRS R 20| & 156,000 156,000 0
= 120,000
=} 36,000
01 AXESHIE2E X 156,000 156,000 0
OH=s0le & x4 156,000
= 120,000
& 36,000
SEHFHAMA 102,488,566 101,889,557 599,009
= 8,600
Xl 94,035,000
& 8,444,966
SHEHOBJAXZHE ALY 795,600 3,298, 100 N 2,502,500
Xl 612,000
== 183,600




AN sHEMD
HE: Qs HESE
Sl SEFEOAMA (B9 ®R)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
403 UHXSHHSA=0l& 795,600 3,298,100 A 2,502,500
Xl 612,000
< 183,600
01 X SHMA2E X 795,600 3,298,100 A 2,502,500
OsHEHOZSAEZE ALY 795,600
Xl 612,000
< 183,600
IIHSFBERZ SEIH ALY 2,371,500 2,424,929 A 53,429
Xl 1,953,000
< 418,500
403 MtXISHHE X201 & 2,371,500 2,424,929 A 53,429
Xl 1,953,000
< 418,500
01 XM A=2EE 2,371,500 2,424,929 A 53,429
OJIAsEHZ &2 H AtY 2,371,500
Xl 1,953,000
< 418,500
SEXNS SEMNLY A (HF) 20,335,429 23,556,672 A3,221,243
Xl 18,730,000
< 1,605,429
403 A X EHHS =0l A 20,335,429 23,556,672 A3,221,243
Xl 18,730,000
< 1,605,429
01 X SHHMA=2LE L 20,335,429 23,556,672 A3,221,243
sEXNSE SENY MG (EY) 20,335,429
Xl 18,730,000
< 1,605,429
SEXNS SEMNY A (0r2) 4,338,514 1,644,328 2,694,186
Xl 3,996,000
< 342,514
403 X SHHSA=0l& 4,338,514 1,644,328 2,694,186
Xl 3,996,000
< 342,514
01 X SHMA=2E X 4,338,514 1,644,328 2,694,186
OsEXY SEML At (02) 4,338,514
Xl 3,996,000
< 342,514
SEMY BAZY ALY 1,804,457 4,528,957 2,724,500
Xl 1,662,000
< 142,457
403 MHXISHE X201 E 1,804,457 4,528,957 A2,724,500
Xl 1,662,000
< 142,457
01 X SHHX2E = 1,804,457 4,528,957 A2,724,500
O=Zdg s#ZHHl A Z 1,804,457




2AN: sgEHY
HE: Qs HESE
SR - ECER CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 1,662,000
& 142,457
HdAS L AIY 182,400 395,000 A 212,600
Xl 168,000
= 14,400
403 XX SHHS K20 & 182,400 395,000 A 212,600
Xl 168,000
= 14,400
01 XIS A2E X 182,400 395,000 A 212,600
OX0sx=d MY 182,400
Xl 168,000
=} 14,400
SESAMRN(SHATI) 43 AHY 65,333,943 56,602,371 8,731,572
N 60,176,000
& 5,157,943
403 XX SHHS K20 & 65,333,943 56,602,371 8,731,572
Xl 60,176,000
& 5,157,943
01 XIS A=2E X 65,333,943 56,602,371 8,731,572
Os==a XN (SHATX) 43 AHY 65,333,943
Xl 60,176,000
= 5,157,943
I ZMEOITRHY| AY 1,191,029 3,435,200 A2,244 171
Xl 1,097,000
o= 94,029
403 XIS SKH=0l& 1,191,029 3,435,200 N~2,244 171
N 1,097,000
o= 94,029
01 AIXISHHMA2E X 1,191,029 3,435,200 N2,244 171
OJI=MEol T2l Y| AFY 1,191,029
N 1,097,000
& 94,029
AT 22 OIOICI AFE 5,311,314 5,451,000 A 139,686
Xl 4,892,000
& 419,314
403 XX SHHS K20 ™ 5,311,314 5,451,000 A 139,686
Xl 4,892,000
& 419,314
01 XIS A2 X 5,311,314 5,451,000 A 139,686
OAlZ 229 otolCi At 5,311,314
Xl 4,892,000
o= 419,314
Al FEA5 AFY 813,200 553,000 260,200
N 749,000
= 64,200
308 NXICSHHMSOIA 813,200 553,000 260,200
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SN SR
HE: gy HESE
S9: sHSXEH (B9 ®R)
5 - 4
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
SHYIXH stX2X & 140,220 143,785 N 3,565
308 XAHXIEHSOIA 140,220 143,785 N 3,565
01 AIXSHMENEX= 140,220 143,785 N 3,565
Os0Hgo Xt stAt=X& 140,220
HAEsHERAME 2HAA 9,000 13,050 AN 4,050
308 XX EHSOIA 9,000 13,050 A4 ,050
01 AIKISHHEMNEX= 9,000 13,050 AN 4,050
OWEsOHERAME 2F XA 9,000
SIHELR0I K& 16,000 19,520 A 3,520
308 XAXIGHHM SO0l & 16,000 19,520 A 3,520
01 HXHHIMNEXZ 16,000 19,520 A 3,520
OsIItE=01 XS 16,000
sSHE ES0HA KM 9,500 2,818,023 N 2,808,523
= 9,500
308 MXISHMSOIA 9,500 2,818,023 N 2,808,523
= 9,500
01 IXHHINMNEEXTZ 9,500 2,818,023 N 2,808,523
OsHE Z2s0l0ls=84dH 22U A& 9,500
= 9,500
HE=sHYQ H=HLRHALY 2,110,080 1,872,000 238,080
308 XHXIEHSOIA 2,110,080 1,872,000 238,080
01 AIXSHMENMNEX= 2,110,080 1,872,000 238,080
OAd=s0{gol H=EHRH MY 2,110,080
FAOSI=8 3 22 10,000 10,000 0
310 =220/ & 10,000 10,000 0
02 =HEES 10,000 10,000 0
OFAOEI =83 2= 10,000
SHEMR2AH 89,400 89,400 0
201 et | 32,400 32,400 0
01 AP 2t 2] H| 32,400 32,400 0
OgBrA A= ZH| 31,000
OSgHl (sdEFA) 1,400
202 04d| 6,000 6,000 0
01 2L Hl 6,000 6,000 0
OLBISAMHE HEAIE &H 6,000
203 ¥ 2 =&XH| 51,000 51,000 0
03 Al 2 =& 2 = X H| 51,000 51,000 0
Os3ANH F=& 43,000




SN SR
HE: Qs HESE
S9: sHSXEH (B9 ®R)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| | Osoecty g & @A =& 8,000
NoiSsiAg S4 5,121,348 7,454,225 ~2,332,877
=2 934,466
Xl 2,205,000
< 1,981,882
=205 s¢t= 8ote &It 6,000 6,000 0
307 glz2+ol & 6,000 6,000 0
04 QIZFHALAIH E = 6,000 6,000 0
O&=28 stt= 8ote &It 6,000
SESHA 81,900 39,000 42,900
= 63,000
= 18,900
308 XtXIEHH SOl A 81,900 39,000 42,900
= 63,000
< 18,900
01 AXHHILEES 81,900 39,000 42,900
OsEZHMAE 81,900
= 63,000
< 18,900
SEMY S4 499,500 2,351,000 ~1,851,500
Xl 430,000
< 69,500
202 Oddl 3,000 0 3,000
X 3,000
01 = LH 4 Hi 3,000 0 3,000
OSTEMHFTEMNY HH 3,000
Xl 3,000
307 212+0 & 7,000 0 7,000
Xl 7,000
02 QB AANFEE 7,000 0 7,000
Ot SEAASHAY ALE 5,000
X 5,000
OHELMHESLHAY FO 2 HI 2,000
Xl 2,000
308 XX SIS 0| & 489,500 1,266,000 AT776,500
Xl 420,000
< 69,500
01 IXNHHBNEES 489,500 1,266,000 AT76,500
OSELAS LAY (B &) 489,500
X 420,000
< 69,500
ZREHAEY A 3,348 5,425 2,077
= 2,966
< 382




SN SR
HE: gy HESE
Sl XNSHAMY B4 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
308 X EHSOIA 3,348 5,425 A2,077
= 2,966
< 382
01 HIXNHHBHNEELES 3,348 5,425 N2,077
OZ2L2HAFX=M 3,348
= 2,966
< 382
OtME &0t 2SI 900,000 900,000 0
403 MtXISHHE X201 & 900,000 900,000 0
01 XM A=2EE 900,000 900,000 0
Ootds sE0E &= 900,000
SH2 HE -S| AMEXZ 2,192,000 2,745,000 A 553,000
Xl 1,775,000
= 417,000
403 A X EHHS =0l A 2,192,000 2,725,000 A 533,000
Xl 1,775,000
< 417,000
01 X EHHM A= E L 2,192,000 2,725,000 A 533,000
OsdtE ME-It3 - |8 AEXR 2,192,000
Xl 1,775,000
< 417,000
SHE SsH24ds 832" 139,500 131,500 8,000
= 139,500
308 AHAIEHHSOIA 139,500 131,500 8,000
= 139,500
01 HXNHHNBMNEES 139,500 131,500 8,000
Os0E ZsHeEdst 882y 139,500
= 139,500
SHE SsHa8s ANA3HdH 120,000 102,000 18,000
= 60,000
< 60,000
307 glz2+ol & 120,000 102,000 18,000
= 60,000
< 60,000
02 QIZtE A AHEE 120,000 102,000 18,000
Os0E SSHELEaXNE dH 120,000
= 60,000
< 60,000
SERE KA 50,700 0 50,700
= 39,000
< 11,700
308 MXIEHSOIH 50,700 0 50,700
= 39,000
< 11,700
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%“ -/
HE: gy HESE
e NYEESAY 4 (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %E& HRE2
01 AIKSHMEAMNEX= 50,700 0 50,700
OsEREXNE ALY 50,700
= 39,000
o= 11,700
SAHEES5IIEE S & X0l 6,900 6,900 0
202 044 6,900 6,900 0
01 2L Hl 6,900 6,900 0
OsX&EE olJHE2e) &X &0l 6,900
XA S XFE2 2 29 2 A3 "It 933,000 808,400 124,600
= 505,000
o= 428,000
307 212t0| & 933,000 808,400 124,600
= 505,000
o= 428,000
02 QIZEBAAIE 2 X 933,000 808,400 124,600
OBXASEE NI/} EZ2 )2 29 L A S B} 933,000
= 505,000
= 428,000
BXFAMATE NG AAMAISE ALY 88,500 177,000 A 88,500
= 75,000
& 13,500
308 XHXIEHSOIA 88,500 177,000 A 88,500
= 75,000
= 13,500
01 AIKSHHEMNEXZ 88,500 177,000 A 88,500
OB6XHAIH B X HAHAAAE ALY 88,500
= 75,000
o 13,500
BXIAFY EHOH EHESRE MY 100,000 0 100,000
= 50,000
& 50,000
307 QI2t0| ™ 100,000 0 100,000
= 50,000
&< 50,000
02 QI2tAAMAIE E =X 100,000 0 100,000
O6Xar T EHS2E MY 100,000
= 50,000
& 50,000
HHSHAY (sHH M) 87,140 88,694 AN 1,554
Jl2&ddl 87,140 88,694 N 1,554
Jl2 &4l 87,140 88,694 A 1,554
201 et 9| 17,740 19,514 N1,774
01 AR 2t2l ] 17,740 19,514 A1, 774
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n0

Kio

Hl w

A 3,780
A 3,780

H3r
Wikd
RIS

41,580
41,580

27,600
6,600

Off &t 24

7,240
10,500

37,800
37,800
37,800

27,600

00
<+
i

OJ1=0Hl

01 =LHOI LI

202 Oddl

KJ
KE
ok
oD

4,000
4,000

21,000

6.600
6.600
21,000
4,200
4,200
4,200
4,200
4,200
4,000
4,000
4,000

OoZgHI ¢




